Chapter 19 2nd Homework Assignment

Read page 636 The beginning of the Population Explosion to page 643.  Stop just before Building the Atlantic Economy.

Answer the following questions:

1. Why did population increase dramatically in Europe in the 18c? 

2. With the exception of Britain, why didn't the birthrates in most regions of Europe increase in the 18c?  Why was England an exception to this trend? 

3. What were the reasons for the gradual growth of the economies of most European countries in the 18c?

4. Why had the putting-out system reached its organizational and technological limits by the early 18c? 

5. What new 18c inventions made the creation of the modern factory system possible?
Continue looking at the Industrialization power point starting at Improvements in Transportation.  Stop at Living Conditions.
